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The following data is given for an economy for the
year 2016. How each of the following transactions would

affect the GDP and why ? - 3
() Rs. 10 lakh is paid as interest on the national -d_ebt,

(ii) lce-cream maker began the year with Rs..5,000

worthlof milk in his factg and at the end of

Q
the year he is holdh@s. 5,500 worth of milk.

&
N
Using the quantity Q@bry of ‘money and the Fisher’s

equation explain in detdil how the rate of growth in

money affects the nominal interest rate ? 5

Explain wh;ather a new environmental protection law that
requires firms to reduce their emissions of poliutants
(an exogenous event) will shift the short run aggregate
supply curve of aggregate demand.What are the policy
options available for the macroeconomi_st working with
the government to minimise effect of these events on

the economy ? Explain using suitable diagram. ?
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(31) ot 2016 B fou ww erdfemawen & fag

frefafen siwe fau o &1 froafafeq & 9
TI% GDP ® fd YR wuifgq & € 9
= ?

-'(0 Mﬂmmmmmﬁwﬁm

e T |

(i) T AEEmE Feia ol $eet ® 5,000

TR g B qY P WY SRY FW@ T
qq TE H A H 5,500 TIA HTH A
q¥. SER U A ¥

(F) 31 1 uREm fagma 5 fReR e &1 39am

F@ e wie fF RE gn gfs, awfaw
e TOH g w2

(§) =rem Ffe e fF w wE T wEieR wee

w1 foos ogd wHfE w OuguE S
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2. (a) What

(h)

(©)

( 4 ) 8929

are the uses of private savings ? 3

Suppose a country’s quantity of money is Rs. 600 billion
nominal gross domestic product is Rs. 12 trillion ang
the real gross domestic product is Rs. 6 trillion.

(1 trillion = 1000 billion)

() What is the price level and velocity of money. in

this country ? %QQ

D

(i) Suppose the vel 'b? is constant and the
Y, e -
economy’s out; y 5 per cent each year. What

quantity of money.and money supply should the

central bank set next year if it wants to keep the

price level stable ? (Calculate money supply in

billions). B

Using the suitable diagram in IS-LM framework show
the effect of introduction of investment suBsidy on the
level of consumption, income, investment and interest

rate In an economy. Also, compare the results with other

€Xpansionary fiscal policies. J
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w1 SR s whww wfa od & wed @
?ﬁﬁﬂﬁ%"ﬁm?ﬁfﬂm?ﬁw
7 g ufd feoh wH A AR @€ wiEa
wR ® A TeA =ed §7 (I g
faferm # T =ifs)
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& ®Wyg ot gEm Wi

Explain briefly the following concepts :
(/) Household fixed investment.

P.TO.
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o (7))

(i) Monetary neutrality.
: M/P =Y [04 - (r* expected inflation)

w& . GiaRe M (Y) = 2000 T
qffas = X () = 4 Fawd

sty wfy - ¢ Thwm sewEE # e T
0 ﬁﬁamﬁﬁqﬁﬁﬁfﬁfﬂﬁ?ﬁﬂaﬁq@

(b) Assume that the demand for real money balay
CBS I

represented by the following :
M/P=Y [0.4 —(r + expected inflation)

Where: Nominal Income (Y) = Rs. 2000

Real interest rate (r) = 4% ;
; | = wa & fau 15 yhw@ ¥

. Expected inflation = 6% is constant in o
@5(\%] J . (ﬁ)wﬁﬁraﬂmﬁﬁmmamﬁﬁﬁﬁ

(). Calculate seignorage, if % rate of. growth
6 ghE ¥ ¥ g% HARS H S T

nominal money is 15@2z> cent_forever. -

N (@) () == efu @ wfenfE SIS T

(i7) Calculate the inﬂ%gon tax_ when actual inflatjop |

g5z onfysm = = g €2 3Sfaa A
H I HE A HISC

surplus mean ? Explain using suitable diagram, 3 | @) W9 S W T FA A s @

| JYE H U@ hifd |

(i) Explain the effect of increase in government |

equals 6 per cent. Is. it eﬁual to Seignorage ? 32

(¢ () Define budget surplus.  What does negative budget

purchase on budget surplus 4 4. (@) If the GDP deflator for the year 2016 is 110 and the

(3‘0 Fretfefen semonslt =t s ser #if -
3800 respectively, find the rate of growth of real domestic
) e fer fraw
product keeping 2015 as base year. 3
(i) HfSF  qewem '

nominal GDP for year 2016 and year 2015 are 5500 and

(b)  Seignorage is the real revenue from money creation. If

(F) 77 ffom sty \ o
a3 9 _‘m" fag = the government chooses a constant rate of nominal
Frftem g Td w T @ :
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8929

money growth and maintains it forever, wha;
\ ) Woulq

its effect on seignorage ?
S

© 0 Graphically explain the derivation of ag
gl‘egate

demand curve using IS-LM framework
3

(i) Explain monetary transmission mechanisfn

(1) 9 a4 2016 ® T GDP fewiex 110 _quf

2015 T 2016 % fe@ GDP F91: 380

assoo%laﬁzmsﬁqﬁﬂﬂa&r@mmm
mmaﬁ@\mmﬁﬁm

(a)amﬁwhﬁﬁaammw%rqﬁ:
FER Th R gl W H gAE wd
E O WA W et ¥, G ge S
W F g9 g2 ?

() @ 1M 2 1 399 Y o
o fufn %) e Hifer |

.(m TR 95 Ft srem #il
(a)

What ar
€ com 0
Ponents of current account of the Balance

of Payment

4

®

(©

A~bond promises t0

0

(i)

(i)

¢ 9 ) 8929

pay $1000 in one year.

What is the interest rate on the bond if its price

today is $ 500 and $ 800 ?

What is the relation between the price of the bond

B 3’2

and the interest rate ?

What do you mean by cfowding out ? Explain

using a suitable diagram. 3

When the demand for real money balances is less
responsive to the rate of interest, crowding out

is more. Explain using suitable diagram. 4

(ﬂ)@%ﬂ%@mﬁs‘m%m@rﬁ%m

g ?

(@) wF o # wH S 1000 TR I H Fq=A

A T

O)

Sfe | oS <X N BN, AR SIS SHe!

FHT 500 TR o 800 SR T
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(ﬁ)aﬁ'gﬁaﬁmammq}%w
Hay §7

(®) () FRfET oM | o9 FM e ¥) I

(a)

®)

fa3 &1 STAM HifST)
(;f)mwﬁmﬂwﬂﬁﬁmﬂ“ﬁmm

3 W B TR AW T A

mﬁw@w%laﬂa@fﬂawmﬁq
mwaﬁm@*

O
Explain how each of t@owing transactions would
Q

enter the India’s bal%ce of payment accounts.

. The Reserve Bank of India sells dollars and buys

rupee from a Swiss Bank.

I Indian resident opens a Swiss Bank account. 3

What is

a monetary base of $ 10 million. Calculate money supply

in the following situations -

(1) Al the money is held as demand depositsl and

banks hold 10 PEr cent of their deposits as reserves.

(i) All the money is held ag currency. . #

a money multiplier ? Suppose an economy has =

©

i W b 8929

Assume the following 1S-LM model :

C'= 200 + 0.5 Yd

Yd = Y - Tax
Tax = 0.2Y

| = 400 — 36i
G= 120

M = 200
Pp=2

L = 02¥ - Si

() Calculate the equilibrium level of income and

interest rate. , 3

(i) How much investment will be crowded out if the
government increases its purchases by 120 and

nominal money supply remains unchanged ? 4

(a1) frefefen 3 4 TO® A3 W@ B G

I TR A S it Ry SR s F

PTO.
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3929
mfﬁﬂﬁ?ﬁﬁwﬁl‘qﬁaﬁ%m - M = 200
T TR T 9N T Tew o P22
(In Wmmﬁaﬂ%ﬁ@mw | L = 02Y — 8i
S () @ H Tqed WR T S & R TA
(1) 7= g7 A " b |
%wwﬁmq-ww@_ﬁmm%' iy fETn fRw ®ee sme qm AR W
| :
ﬁqﬁf‘@aqﬁ-ﬁmﬁﬁﬂmgﬁmw: m@ﬂaaﬁuo@f%ﬁﬁ%ﬁm

Ny
' R
Y ““ﬁﬂmwz@%mﬁ%mﬁm.
.'mwaﬁ%wmﬁaﬁ@m '
q @ ¥

5 qfd 9" @@ 2

(@) How does GDP differ from GNP ? If a country employs
many foreign workers, which is likely to be higher :

GDP or GNP ? 3

() |9t qsT FT F-®Y T T

(b) What are the social costs of a predictable inflation ? 5

(¢)  Consider a loanable funds market of an economy. The

C =200+ 05 vg following equations describe the economy :

Yd =Y _ Tay Y=C+G+1
Tax = 02y Y = 6000
[ =400 — 36i G = 2000

. P.T.0.
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T = 2000 Y=C+G+1
C=500+05(Y-T1T Y = 6000
I = 2000 — 50r G = 2000

(0 Find the equilibrium rate of interest and national T = 2000

C =500+ 05 (Y - T)

savings. n e
(i) Now suppose the goven@ reduces' the taxes 1 = 2000 — 50r

to 1000. Compute 9§q§w much, amount do the 0] ‘HQT-F-[ N X 9 TI'E?W g9al H I

N
following %@a e «: [ disposable income, HIfST |
consumption, investment-and national savings due (i) TS A Fﬂﬁﬂ & TR FU I HIHT
I
to fall in the tax. : 4 1000 FE DI _E'TIT‘T Fifse f& f=afafaa
(¥) GDP, GNP ¥ &8 firy ¥? 3ft 3w @gg fadeht W @, SudE, frew 9 I=E 9=a

FHAE I IR 2 ¥ @ P w9 A FA A F H FRO R TS S 2

ﬁq"*Ta‘f:l'f%:GDP'éTII(}Np?
(3)34‘3?&%3@%#}?@%3;@%@%?

() T oo & worvg w @ SR W
T H e gt syt #
S FY ¥ . —_— i 3,500
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